
Apprentissage actif par différence temporelle  

●  Dans	
  le	
  cas	
  de	
  l’appren-ssage	
  TD,	
  l’approche	
  ac-ve	
  vorace	
  devrait	
  aussi	
  
u-liser	
  
	
   	
   	
   	
  	
  	
  	
  	
  	
  π(s)	
  =	
  argmax	
  Σ	
  s’	
  ∈	
  S	
  P(s’|s,a)	
  V(s’)	
  

●  Par	
  contre,	
  l’approche	
  TD	
  passive	
  n’es-me	
  pas	
  P(s’|s,a)	
  

●  En	
  mode	
  ac-f,	
  on	
  pourrait	
  apprendre	
  P(s’|s,a)	
  en	
  plus	
  de	
  V(s’)	
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Apprentissage actif avec Q-learning 
●  Peut-­‐on	
  éviter	
  l’appren-ssage	
  de	
  P(s’|s,a)?	
  
●  Une	
  alterna-ve	
  est	
  d’apprendre	
  une	
  fonc%on	
  ac%on-­‐valeur	
  Q(s,a)	
  

u  on	
  n’apprend	
  plus	
  V(s),	
  soit	
  l’espérance	
  de	
  la	
  somme	
  des	
  renforcements	
  	
  
à	
  par-r	
  de	
  s	
  jusqu’à	
  la	
  fin	
  pour	
  la	
  poli-que	
  op-male	
  

u  on	
  apprend	
  plutôt	
  Q(s,a),	
  soit	
  l’espérance	
  de	
  la	
  somme	
  des	
  renforcements	
  	
  
à	
  par-r	
  de	
  s	
  et	
  l’exécu%on	
  de	
  a,	
  jusqu’à	
  la	
  fin	
  pour	
  la	
  poli-que	
  op-male	
  

u  le	
  lien	
  entre	
  Q(s,a)	
  et	
  V(s)	
  est	
  que	
  V(s)	
  =	
  max	
  Q(s,a)	
  

●  Le	
  plan	
  de	
  l’agent	
  est	
  alors	
  	
  π(s)	
  =	
  argmax	
  Q(s,a)	
  
u  plus	
  besoin	
  d’es-mer	
  P(s’|s,a)	
  et	
  V(s)	
  séparément	
  

●  On	
  appelle	
  ceSe	
  approche	
  Q-­‐learning	
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Apprentissage actif avec Q-learning 
●  Selon	
  la	
  défini-on	
  de	
  Q(s,a),	
  on	
  a	
  	
  

	
  
	
   	
   	
  Q(s,a)	
  =	
  R(s)	
  +	
  γ	
  	
  Σ	
  s’	
  ∈	
  S	
  P(s’|s,a)	
  max	
  Q(s’,a’)	
  

●  Comme	
  pour	
  l’approche	
  TD,	
  on	
  traduit	
  ceSe	
  équa-on	
  en	
  la	
  mise	
  à	
  jour	
  
	
  
	
   	
   	
  Q(s,a)	
  ←	
  Q(s,a)	
  +	
  α	
  (	
  R(s)	
  +	
  γ	
  max	
  Q(s’,a’)	
  –	
  Q(s,a)	
  )	
  

●  On	
  voit	
  la	
  similarité	
  avec	
  l’approche	
  TD	
  ini-ale	
  
	
  
	
   	
   	
  	
  	
  	
  	
  V(s)	
  ←	
  V(s)	
  +	
  α	
  (	
  R(s)	
  +	
  γ	
  V(s’)	
  –	
  V(s)	
  )	
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Apprentissage actif avec Q-learning 
	
  
	
  

	
  
●  Ini-alisa-on:	
  

	
  
	
  Q(s0,a1)	
  =	
  0 	
   	
  Q(s0,a2)	
  =	
  0	
  
	
  Q(s1,a2)	
  =	
  0	
   	
   	
  Q(s1,a3)	
  =	
  0	
  
	
  Q(s2,None)	
  =	
  0 	
  	
  

●  On	
  va	
  u-liser	
  α	
  =	
  0.5,	
  γ	
  =	
  0.5	
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Apprentissage actif avec Q-learning 
	
  
	
  

	
  
●  Observa-ons:	
  (s0)	
  -­‐0.1	
  
	
  

	
   	
   	
  On	
  ne	
  fait	
  rien	
  (on	
  a	
  besoin	
  d’un	
  triplet	
  (s,	
  a,	
  s’)	
  )	
  

●  Ac-on	
  à	
  prendre	
  π(s0)	
   	
  =	
  argmax{	
  Q(s0,a1),	
  Q(s0,a2)	
  }	
  
	
   	
   	
   	
   	
  =	
  argmax{	
  0,	
  0	
  }	
  
	
   	
   	
   	
   	
  =	
  a2	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  (arbitraire,	
  ça	
  aurait	
  aussi	
  pu	
  être	
  a1)	
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Apprentissage actif avec Q-learning 
	
  

	
  
●  Observa-ons:	
  (s0)	
  -­‐0.1	
  →	
  (s0)	
  -­‐0.1	
  

	
  
Q(s0,a2)	
  ←	
  Q(s0,a2)	
  +	
  α	
  (	
  R(s0)	
  +	
  γ	
  max{	
  Q(s0,a1),	
  Q(s0,a2)}	
  -­‐	
  Q(s0,a2)	
  )	
  
	
   	
   	
  =	
  0	
  +	
  0.5	
  (	
  -­‐0.1	
  +	
  0.5	
  max{	
  0,	
  0}	
  -­‐	
  0)	
  	
  
	
   	
   	
  =	
  -­‐0.05	
  

	
  
●  Ac-on	
  à	
  prendre	
  π(s0)	
   	
  =	
  argmax{	
  Q(s0,a1),	
  Q(s0,a2)	
  }	
  

	
   	
   	
   	
   	
  =	
  argmax{	
  0,	
  -­‐0.05	
  }	
  
	
   	
   	
   	
   	
  =	
  a1	
  	
  	
  	
  	
  (changement	
  de	
  poli%que!)	
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Apprentissage actif avec Q-learning 
	
  

	
  
●  Observa-ons:	
  (s0)	
  -­‐0.1	
  →	
  (s0)	
  -­‐0.1→	
  (s1)	
  -­‐0.1	
  

	
  
Q(s0,a1)	
  ←	
  Q(s0,a1)	
  +	
  α	
  (	
  R(s0)	
  +	
  γ	
  max{	
  Q(s1,a2),	
  Q(s1,a3)}	
  -­‐	
  Q(s0,a1)	
  )	
  
	
   	
   	
  =	
  0	
  +	
  0.5	
  (	
  -­‐0.1	
  +	
  0.5	
  max{	
  0,	
  0}	
  -­‐	
  0)	
  	
  
	
   	
   	
  =	
  -­‐0.05	
  

●  Ac-on	
  à	
  prendre	
  π(s1)	
   	
  =	
  argmax{	
  Q(s1,a2),	
  Q(s1,a3)	
  }	
  
	
   	
   	
   	
   	
  =	
  argmax{	
  0,	
  0	
  }	
  
	
   	
   	
   	
   	
  =	
  a2	
  	
  	
  	
  	
  	
  	
  	
  	
  (arbitraire,	
  ça	
  aurait	
  aussi	
  pu	
  être	
  a3)	
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Apprentissage actif avec Q-learning 
	
  

	
  
●  Observa-ons:	
  (s0)	
  -­‐0.1	
  →	
  (s0)	
  -­‐0.1→	
  (s1)	
  -­‐0.1	
  →	
  (s0)	
  -­‐0.1	
  

	
  
Q(s1,a2)	
  ←	
  Q(s1,a2)	
  +	
  α	
  (	
  R(s1)	
  +	
  γ	
  max{	
  Q(s0,a1),	
  Q(s0,a1)}	
  -­‐	
  Q(s1,a2)	
  )	
  
	
   	
   	
  =	
  0	
  +	
  0.5	
  (	
  -­‐0.1	
  +	
  0.5	
  max{	
  -­‐0.05,	
  -­‐0.05}	
  +	
  0)	
  	
  
	
   	
   	
  =	
  -­‐0.0625	
  

●  Ac-on	
  à	
  prendre	
  π(s0)	
   	
  =	
  argmax{	
  Q(s0,a1),	
  Q(s0,a1)	
  }	
  
	
   	
   	
   	
   	
  =	
  argmax{	
  -­‐0.05,	
  -­‐0.05	
  }	
  
	
   	
   	
   	
   	
  =	
  a1	
  	
  	
  	
  	
  	
  	
  	
  	
  (arbitraire,	
  ça	
  aurait	
  aussi	
  pu	
  être	
  a2)	
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Apprentissage actif avec Q-learning 
	
  

	
  
●  Observa-ons:	
  (s0)	
  -­‐0.1	
  →	
  (s0)	
  -­‐0.1→	
  (s1)	
  -­‐0.1	
  →	
  (s0)	
  -­‐0.1	
  →	
  (s1)	
  -­‐0.1	
  

	
  
Q(s0,a1)	
  ←	
  Q(s0,a1)	
  +	
  α	
  (	
  R(s0)	
  +	
  γ	
  max{	
  Q(s1,a2),	
  Q(s1,a3)}	
  -­‐	
  Q(s0,a1)	
  )	
  
	
   	
   	
  =	
  -­‐0.05	
  +	
  0.5	
  (	
  -­‐0.1	
  +	
  0.5	
  max{	
  -­‐0.0625,	
  0	
  }	
  +	
  0.05)	
  	
  
	
   	
   	
  =	
  -­‐0.075	
  

●  Ac-on	
  à	
  prendre	
  π(s1)	
   	
  =	
  argmax{	
  Q(s1,a2),	
  Q(s1,a3)	
  }	
  
	
   	
   	
   	
   	
  =	
  argmax{	
  -­‐0.0625,	
  0	
  }	
  
	
   	
   	
   	
   	
  =	
  a3 	
  	
  	
  	
  	
  (changement	
  de	
  poli%que!)	
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Apprentissage actif avec Q-learning 
	
  

	
  
●  Observa-ons:	
  (s0)	
  -­‐0.1	
  →	
  (s0)	
  -­‐0.1→	
  (s1)	
  -­‐0.1	
  →	
  (s0)	
  -­‐0.1	
  →	
  (s1)	
  -­‐0.1	
  →	
  (s2)	
  1	
  

	
  
	
  
État	
  terminal:	
  	
  Q(s2,None)	
  =	
  1	
  
	
  
Q(s1,a3)	
  ←	
  Q(s1,a3)	
  +	
  α	
  (	
  R(s1)	
  +	
  γ	
  max{	
  Q(s2,None)	
  }	
  -­‐	
  Q(s1,a3)	
  )	
  
	
   	
   	
  =	
  0	
  +	
  0.5	
  (	
  -­‐0.1	
  +	
  0.5	
  max{	
  1	
  }	
  +	
  0)	
  	
  
	
   	
   	
  =	
  0.2	
  

●  On	
  recommence	
  un	
  nouvel	
  essai...	
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Apprentissage actif avec Q-learning 
	
  

	
  

●  Supposons	
  qu’on	
  puisse	
  aussi	
  faire	
  l’ac-on	
  a4	
  à	
  l’état	
  s1,	
  pour	
  mener	
  à	
  s3	
  	
  
tel	
  que	
  R(s3)	
  =	
  1000	
  

●  Puisque	
  Q(s1,a4)	
  =	
  0	
  à	
  l’ini-alisa-on,	
  et	
  que	
  Q(s1,a3)	
  >	
  0	
  après	
  un	
  essai,	
  une	
  
approche	
  vorace	
  n’explorera	
  jamais	
  s3!	
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Apprentissage actif avec Q-learning 
●  On	
  peut	
  également	
  contrôler	
  la	
  balance	
  entre	
  l’explora-on	
  et	
  

l’exploita-on	
  dans	
  Q-­‐learning	
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